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/ General Instructions to Candidates : \

e There is a ‘cool-off time’ of 15 minutes in addition to the writing time of 2 hrs.

e You are not allowed to write your answers nor to discuss anything with others
during the ‘cool-off time’.

e Use the ‘cool-off time’ to get familiar with questions and to plan your answers.

e Read questions carefully before answering.

e All questions are compulsory and only internal choice is allowed.

e When you select a question, all the sub-questions must be answered from the same
question itself.

e Calculations, figures and graphs should be shown in the answer sheet itself.

e Malayalam version of the questions is also provided.

e Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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7.

7029

(1)

(i)

(1)
(i)

Non-conventional source of energy

(a) Coal (b)  Solar Energy

(c) Petroleum (d) Natural Gas

A nuclear power plant in Maharashtra

(a) Narora (b) Tarapur

(c) Kalpakkam (d) Kota (Scores : 2)

Define the concept of age structure of population.

Name any two types of population pyramid and the countries represented by
them. (Scores : 3)

Complete the given table :

Inland waterway Linking places
(1) | Danube waterway
(i1) Interior USA with Gulf of Mexico
(Scores : 2)
Classify the following towns in India based on their period of evolution :
Allahabad, Jaipur, Mumbai, Jamshedpur (Scores : 2)
(1) A sub-field of Economic Geography
(a) Population Geography (b) Historical Geography
(c) Urban Geography (d) Agricultural Geography
(1)) The approach in Human Geography which was spread during 1930’s
(a) Aerial Differentiation (b) Regional Analysis
(c) Radical Approach (d) Humanistic Approach (Scores : 2)

Match the following items based on India’s population growth during the last century :

A B

1921-1951 | Population explosion

1901-1921 | Steady population growth

1951-1981 | Stagnant population growth

1981-2001 | Gradual decrease in growth rate

(Scores : 2)

Write briefly on the objectives of Drought Prone Area Programmes launched in India.

(Scores : 2)
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8.  Complete the flowchart based on the classification of industries :

Classification of Industries

Size
Private
Sector
A 4 A\ 4
Cottage
Industry
(Scores : 3)
9.  Analyse the sources of air pollution in India. (Scores : 2)

10. (i) The language family belonging to the speech areas of Tamil Nadu and Karnataka.
(a) Dravidian (b) Austric
(c) Sino-Tibetan (d) Indo-European
(i) A Kharif crop
(a) Cotton (b) Wheat
(c) Fruits (d) Barley

(i) Leading producer of coffee in India

(a) Karnataka (b) Jammu & Kashmir

(c) Rajasthan (d) Gujarat (Scores : 3)
11. Differentiate between Bilateral and Multi-lateral trade. (Scores : 2)
12.  Suggest any three methods adopted for rainwater harvesting. (Scores : 3)
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13. (i) Bokaro steel plant was established in collaboration with

(a) Germany (b) Russia
(c) France (d) China
(1) Software Technology Park in Rajasthan
(a) Jaipur (b) Gandhinagar
(c) Kanpur (d) Indore (Scores : 2)

14. (i) Mention in brief about any two economic factors influencing the distribution of

population.
(i) ‘Migration leads to redistribution of the population within a country.” Substantiate
the statement. (Scores : 5)

15. The given map represents the distribution of an agricultural crop of India. Identify it
and mention its geographical characteristics.
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(Scores : 4)
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16. (i) Sadiya-Dhubri Stretch of National Waterway in India is
(a) NWI (b) NW2
(c) NW3 (d Nw4
(1)) An International Airport of Andaman-Nicobar Islands
(a) Nagpur (b) Port-Blair
(c) Calicut (d) Coimbatore
(iil) A quinary activity
(a) Consultants (b) Transport
(c) Communication (d) Trade (Scores : 3)
17. Identify the agricultural system shown in the map of the world and mention its
characteristic features.
it
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(Scores : 4)
18. Prepare a flowchart based on the communication based tertiary activity. (Scores : 2)

19. Analyse the problems associated with urban settlements.

7029 8

(Scores : 3)



16. (i) avodle 2a)m@3 wyenil A1HEWIBS E¢RUTIW RElaIO®

(a) NWI (b) NW2
(c) NW3 (d NWw4
(i)  @RBWAIM-TEH006mI0AR Bllal TVAJOTTIOLI 630) ERANIVI (Y AlAdMBEMOAISO
(a) mMoWald (b)  ca1Adg MIWAE
(c) c®o¥lcands (d) caomicm)ad

(i11) B0 BHMO (LAUBTHMo
(a) 9aleBUHHD (b) OV

(c) andomoailmla®oe (d) aemlzie (capodav’ : 3)

17. @alcl@an celodE)nISemI@ aV)allaflafldl@ian @0@aHl® TVMIBIW aBO@AT
HOTBON] @GO TVANCUAHDBUB af)P)®)D.

.....................

- / / -'v—%-,;—-._
\ SOUTHERN OCEAN )
N . \ 3 { / / — < 7
N D" N SRR, CURUR NUN—— S—— / 4 T ——
ST N, e ,{:V\- o \ ,.-r—a—/-—f'-—"m.—-’ g -~ \“*’—/{fs
ST\ o AN N 1A |Rc/T _1_c A /h%/""
180°W 140 100° ° 2 ¢ 2 &0° 100° 140° 180°E

(capodav : 4)

18.  andomoalrla®ec® @RSITLNIMea|S)omISs @G ®el (IaIBeMEBes

aV)afla flNIM B0} GaQO 21085 YOI . (capodav’ : 2)
19.  mondle @rwlanav canieidaSlee! (1¢ggemBdd AlvddHLIMo §alQ))d. (capodav’ : 3)

7029 9 P.T.O.



20.

21.

7029

(1)  List the four approaches of human development.

(11)) Give any two reasons for low levels of HDI in most of the Northern State of
India. (Scores : 4)

Identify and locate the following in the outline map of India provided.
(1) An administrative town and a city of Jammu & Kashmir.

(1)) A coal field in Tamil Nadu.

(i11)) A major industrial region in Kerala.

(iv) Headquarter of Western Railway.

(v) A major inland port located on Hugli river. (Scores : 5)
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(1v) alt@ila H0WI@EAUWHS @RYAVNIMo.
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11



7029

12



For Question No. 21

Scale 1:17,000,000 1 ¢m =170 kons

INDIA
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